KLE Society's Law College, Bengaluru Student Satisfaction Survey- 2021-2022 | No. of Responses | Value | Score

Ouestion Student Satisfaction S		Value	Score	Average
1. How much of the syllabus was covered in the class?				
The whole syllabus was covered in detail	150	4	600	
Most of the syllabus was covered in detail and some portions in	150	-	150	4
brief	50	3		
Half of the syllabus was covered in detail and half in brief	26			
Most of the syllabus was covered in brief and some portions in	20	1	32	
detail	26		26	165.5
The whole syllabus was covered in brief	6	0	0	100.0
•		Total	828	
2. How well did the teachers prepare for the classes?				
Thoroughly	81	4	324	
Satisfactorily	148			164
Poorly	23			
Indifferently	6		40	
Indifferently	0	1	0	
Won't teach at all	0	0	0	
	ľ	Total	ŭ	1
3. How well were the teachers able to communicate?		Total	020	
Always effective	99	4	396	
Sometimes effective	101	3		
Just satisfactorily	41	2	82	4
Just satisfactority	41		02	150.4
Generally ineffective	11	1	11	
Very poor communication	5		.	
very poor communication	3	Total	ŭ	
4. Were the teachers successful in invoking interest in the			172	
subject?				
Strongly agree	50	4	200	
Agree	119			
Neutral	64	_	120	
Disagree	18	1	18	170.0
Strongly disagree	7	0	0	
bitongry disagree	,	Total	_	
		lotai	. 703	
5. Fairness of the internal evaluation process by the teachers.				
	02	A	260	
Always fair	92			-
Usually fair	118			-
Sometimes unfair	34			
Usually unfair	5		5	159
Unfair	7	0	0	139
Oman	/	Total	_	-
		1 Otal	193	
6 Was your performance in assistance to discuss desired				
6. Was your performance in assignments discussed with you?			200	
Every time	75			
Usually	78			
Occassionally/ Sometimes	38			
Rarely	33		33	128.6
Never	31	0	0	

Question	No. of Responses	Value	Score	Average
		Total	643	
7. The institute takes active interest in promoting and				
facilitating internship, field visit, and similar opportunities				
for students.				
Frequently	60	4	240	
often	66	3	198	
Sometimes	59	2	118	
Rarely	43	1	43	119.8
Never	27	0	0	
		Total	599	
8. Adequate efforts, including mentor-mentee meetings, are				
made by the institution in the teaching and mentoring process				
to facilitate your cognitive, social and emotional growth.				
Strongly agree	58	4	232	
Agree	98	3	294	
Neutral	50	2	100	
Disagree	30	1	30	131.2
Strongly Disagree	17	0	0	
Strongly Disagree	17	Total	656	
9. The institution provides multiple opportunities to learn and		1000		
grow.				
Strongly agree	65	4	260	
Agree	108	3	324	
Neutral	56	2	112	
Disagree	16	1	16	142.4
Strongly Disagree	11	0	0	
Shongry Disagree	11	Total	Ü	
10. Teachers inform you about your expected competencies				
and learning outcomes of the course and programme.				
Strongly agree	58	4	232	
Agree	117	3	351	
Neutral	53	2	106	141
Disagree	16	1	16	
Strongly Disagree	12	0	0	
	12		705	
11. Your mentor/ Class Teacher does a necessary follow-up		20001	703	
with an assigned task to you.				
Frequently	104	4	416	
Often	82	3	246	
Sometimes	36	2	72	
Rarely	19	1	19	150.6
Never	14	0	n	
110101	14	Total	753	
		1 Otal	133	

12. The teachers illustrate the concepts through examples and				
applications.				
Frequently	127	1	508	
Question	No. of Responses	Value	Score	Average
Often	86		258	
Sometimes	32	2	64	
	7	1	7	167.4
Rarely Never	4	1	7	107.4
Never	4		U	
		Total	837	
13. The teachers encourage you to improve upon your				
strengths by providing right level of challenges.				
Strongly agree	65	4	260	
Agree	107	3		
Neutral	51	2	102	
disagree	21	1	21	
disagree	21	1	21	143.2
Strongly disagree	12	0	12	
		Total	716	
14. The teachers help you to overcome your weaknesses.		1000	,10	
Strongly agree	59	4	236	
Agree	80			
Neutral	69	_	138	
disagree	28		28	
disagree	20	1	20	128.4
Strongly disagree	20	0	0	1200.
		Total	642	
15. The institution makes effort to engage students in the				
monitoring, review and continuous quality improvement of				
the teaching learning process.				
Strongly agree	66	4	264	
	96			
Agree Neutral	56		112	
			21	
Disagree	21	1	21	137
Strongly disagree	16	0	0	157
Strongly disagree	10	Total	ū	
16. The institution/ teachers use student centric methods,			003	
such as experiential learning, participative learning and				
problem solving methodologies for enhancing learning				
experiences in the relevant subjects/ course.				
		1	25.5	
To a great extent	64		256	
Moderate	108			
Some what	46		92	139.4
Very little	25		25	137.4
Not at all	12	0	0	
	12	Total	ŭ	
17 Institution/Tasahara are are to a set it is to	1	TULAL	097	
17. Institution/ Teachers encourage you to participate in co-				
curricular and extracurricular activities, such as Moot Courts,				
Trial Advocacy, MUNs, ADR Competitions, Sports, cultural				
competitions, etc.			2.5	
Strongly agree	64	4	265	

Agree	117	3	351	
Neutral	49	2	98	145.4
Disagree	13	1	13	
Strongly Disagree	11	0	0	
Question	No. of Responses	Value	Score	Average
	-	Total	727	
18. The institution/ teachers organise workshops and programmes to inculcate soft skills, life skills and employability skills to make you ready for the world of work.				
Frequently	63	4	252	
Often	89	3	267	
Sometimes	58	2	116	
Rarely	28	1	28	132.6
Never	16	0	0	
		Total	663	
19. What percentage of teachers use ICT tools such as LCD				
projector, Multimedia, etc. while teaching.				
Above 90%	65	4	260	
70 – 89%	111	3	333	
50 – 69%	42	2	84	
30 – 49%	26	1	26	140.6
Below 29%	12	0	0	
		Total	703	
20. How do you rate the overall quality of teaching-learning process in your institution?				
Thoroughly Meets Standards	42	4	168	
Meets Standards	110	3	330	
Approaching Standards	68		136	132.2
Not Yet Approaching Standards	27	1	27	
No attempt to improve	9		_	
		Total		
Final Score			$\Sigma/20$	143.36